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t19.0.975= 2.093, t20.0.975 = 2.080, t19.0.95= 1.729, t20.0.95= 1.725
Pr(Z>1)=0.1587,  Pr(Z>1.5)=0.0668

F22 21.0.95= 3.47, F22 21,0975 = 4.42, F» 23.005=3.42,  Fs 23 0975=4.35
X 095 = 384 X 0.975 = 5.02
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182, 184, 188, 192, 196, 196, 203, 212, 218, 222
227, 231, 234, 238, 240, 242, 255, 276, 296, 302
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(1)L 2% (mean)

2)7 = # (median)

3)75%% = # (Q3 quartile )

I
)% £ #& (variance )

)i & X (standard deviation )

T)i& & 22 (standard error)

)% B 2 #c (coefficient of variation )
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A e fr & 2 —E:
A 153, 157, 158, 160, 158, 161, 162, 162
B 148,150, 152, 152, 151, 153, 157, 158
C 140, 142, 142, 147, 148, 150, 141, 143
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